el Febrvary ludd

Dear Lyls,

I ap & Little puzried by the algebre in vour letter of
Poirucry lYth end eéc have get cut on mep¢rate pheet what
I thinx 1s the braie of the polint thew puszles you- I imngine
thet satnod B(1) is that ap llesbla to cll or woet of your
problemg.

fgurs sifiperely,
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No allownrnoe orn hers be made Tor the errira of sutimation
of ‘1 nnd HE-

‘8. Bosll spmple method

(1; If the mources of error in ths tso semples nre analogous,
80 that an observetlion ia exrectad to hava the nreolsion,
wolchever parple it belongs to,
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the same estlamte bmaed on (n, + n.) degress of freedon being
used for the precision of both meafis. Student's X table 1s
then appliocable.

A terma of s; and 8g of A above this 1s rather
somplicated,i.s.
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The larger smsple ocontributes moat of ths information
ebout precislon, but the emaller sarple contributes most of
the error of the cemparison, Consequently whea n, ia the
larger, the part that matters comes frem
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B. Small sample uethod(oontinued)

(11) I the sources of error of the two es are diffsrent,
ag *hen an astronomer deWi¥es sstinate me value, suah
as the diatanoe of the Sun, by two tosslly different methods,
the esmall sample problem is more complicated Ve glve mome
workeple tables (V.1 and V.2) in the Becond Editlon of
Strtistical Tables, with a worksd exsmple in the Intreduction
explalniagg the Icglo of the thing.




